@ y=-x3+3x

O y=x(x-3)+1

@ y=2x+1

® y=1-2x?



=L 1
Ol't

y = —2x2 O] TR Zo] WA Ae] x5 7} HES

ol
BN



3.

ohe A9 ghe?
sin? 30 ° 4 sin? 60 ° — tan 30 ° x tan 60 °

D 343 @ 242 ® V3

@ V2

® 0



sin 30 °
cos30°

@ V2

sin 90 °
X tan 60 ° +

@ V3 ® 2

sin 30 ° X cos 60 °

o gre?

@ 3



12y = 2 +x—a 9 2T F H (3, 5), (1, b)

H < Adral
k. old, a, b 9] F27

@a:3,b:_7 @6125,17:—6

®a:7’b:_5 @a:—7,b:—4

® a=-5b=-5



6.

& 29O olAHES y = ax? O Do}y F Th

O] Al y = @' oA @ O G2

yl\

Ql 12



® y=3x2+4

@ y=-x?

1
®y=§x2

@ vy

-2 - x2 ® y=x(10-x)



?

2 Atk m o) ghe

(3, m)

3|
=

@ 17 ® 19 @ 21 ® 23

D 15






ol
NI



y= -3 (c+3)2 8] TARI} F3} T Qo) x2HEE

@ -2 ® -1 @ 0 ®1



F 874 g AL
® tanA L
anA = =
5
@cosB:g\/E

® tanB=3




13. o F olAS y = 2229 2 mo] @ HPOE $7 g
2L

@ yZol tfske] thaol,
@ otelz 2=,

® ZAAe) HuE (0, 0) |tk

@ y = 2] TR ze} xFof Thste] hHolrt.
® y=-x*9] TP T} Zo] Fr}.



@ 9

® 8

@ 6



15. ol4@ay = a1 ¢ o 1T} 0L AN 2S 1), L F
y=ax+q & 1 TE?




X%+ 2ax+4 O L] BRI O] 277} (1,6) € W,
()



17. oA y = —x? + 5x -4 9] A7}t 2] o AFR 22

@ A1 AREH @ A 2 AHEH ® Al 3 AREH

@ Al 4 AHEH ® Al 2,4 AHEH



18.

HE2]& 2] Zo]7F 20cm )

il

@ 1200 cm?

@ 1500 cm?

®

ol WHshes JAolzd ol Hele st

1300 cm?

1600 cm?

® 1400 cm?



19. o2 3o AB=9,BC =6, zA + A
(C=45° 4 1], AABC 9] ¥lo]=?

® —272‘5 o) %7
® 272\/5 @ 3\/§2+«/§
272+ 5

2



® 36cm? @ 48cm? @ 55cm?

@ 72cm? ® 108 cm?



